n. 191, #1-16 all, #29, #26

1.

y=mx +b
y=2x+9

An equationisy = 2x + 9.

.y=mx+b

y=0x+5

V= 5

An equation is y = 5.
.y=mx+b

y=—-3x+0

y= —3x

An equation is y = —3x.
.y=mx+b

y=—735x + 1.5

An equation isy = —7.5x + 1.5.



5.vy=mx +b
1—2 J—
y=3x+(—8)

1—2 J—
y=3Xx—38

An equation is y = %x — 8.

6. yv=mx + b

b= 3y 1
Y PR

ationis v = —2x — L
An equation 18 y T

7. Let (x;. ¥) = (0, 2) and (x,. ¥,) = (3. 3).
Vs — ¥ 3—-2
m=22"N _ _1
Because the line crosses the y-axis at (0, 2), the y-intercept
is 2.

So, the equation is y = %x + 2.

8. Let (xy, vy) = (0. 3) and (x,. y,) = (4. 2).

_ Y2 "N _2—-3_ —1 I
m = = =
Xn—x 4—-0 4 4
Because the line crosses the y-axis at (0, 3), the y-intercept
is 3.

So, the equation is y = —%x + 3.



9. Let (x;.¥y) = (—3.4) and (x,, y,) = (0, 0).

m:}'g_}']: 0—4 :{}_4:_4

4
3

Because the line crosses the y-axis at (0, 0), the y-intercept
is 0.

Led |

So, the equation is y = —%.r +0.0ry= —=2x.

10. Let (x;, v;) = (0, —2) and (x5, ¥,) = (2, 2).
Y2 _2—(=2)_2+2_4
IE — I] 2 - 0 2 - D 2
Because the line crosses the y-axis at (0, —2), the y-intercept
is —2.

m: = :2

So. the equation 1s y = 2x —2.

10—1_09
0—3 —3

11.m =

=3

Because the line crosses the y-axis at (0, 10), the y-intercept
is 10.

So, the equation is y = —3x + 10.
2om=_2>"'l-"12_g
0—2 —2
Because the line crosses the y-axis at (0, —35), the y-intercept
is —5.

So, the equation is y = 6x — 5.



—4—(—4) _ —4+4 0
13.m = = , = —
0—2 0—-2 -
Because the line crosses the y-axis at (0, —4), the y-intercept
is —4.

So, the equation1sy = 0x + (—4), ory = —4.

=0

_ —24-0_ —24-0_ —24 _

0—(—6) 0+6 6
Because the line crosses the y-axis at (0, —24), the
y-intercept is —24,

14. m

—4

So, the equation 1s y = —4x —24.

1 —52 _ —42
—-15-0 —15

Because the line crosses the y-axis at (0, 5.2), the y-intercept
18 5.2.

So, the equation isy = 2.8x + 5.2.

15. m =

= 2.8

3 2
16. m = = = ——
-5—-0 =5 5
Because the line crosses the y-axis at (D. %) the y-intercept
1

15 E

| b

So, the equationisy = —zx +

1
T

h



25. The slope and y-intercept were substituted incorrectly. The
slope 1s 2. So, m = 2. The y-intercept is 7. So, b = 7.

y=mx +b
yv=22x+7

Anequationisy = 2x + 7.

26. The coordinates of the points were substituted incorrectly
when calculating the slope.
Let (x;, ¥;) = (0, 4) and (x,, v,) = (5, 1).

v A —_ _‘1
Slope = 22 nolz4_—3_
Iz - Il 5 - 0 5

Because the line crosses the y-axis at (0, 4), the y-intercept is
4, which was correct.

n| s

yv=mx +b

3
y=—x+4

An equationisy = —%x + 4.



